School Work Wednesday 1st April – 2nd April:
[bookmark: _GoBack]Congratulations to Sam & Damien who are on top of the leader board in the Ancient Rome Kahoot. My top score is 23,941. See if you can beat it!!
Wednesday April 1st: Happy April Fools Day
English: 
· Read chapter 6 of the novel Pg 73 – 84 over the next three days. There will be questions on Chapter 6 on Friday. 
· Read this comprehension and answer the questions that follow. 

The Chinese Legend of the Zodiac
The Chinese calendar follows a 12-year pattern, the Zodiac, with each year named for an animal. There are many legends about how the animals were chosen for the Zodiac. One of the more popular legends is this:
Long ago, the Jade Emperor, who ruled the Heavens, wanted 12 animals to represent the 12 calendar years. So he invited all animals to a swimming race. The first 12 animals to cross the river would appear on the Zodiac in the order they finished the race.
At that time, the Cat and the Rat were very good friends and planned to go to the race together. The day came and the Cat decided to have a nap so that he could be in good form. He asked his friend: "Could you please wake me up when it's time for the race?"
"Have a good nap. I will wake you up," said the Rat. But when the time came, the Rat wanted to win so badly, he left the Cat sleeping and went alone.
In the race, the Ox, the best swimmer, took the lead. When the Ox was near the end, the sly Rat jumped on the Ox's head and then right onto the riverbank to finish first!
The Jade Emperor was very pleased and named the first year of the Zodiac after the Rat. The second year of the Zodiac was named after the Ox. The Tiger, Rabbit, Dragon, Snake, Horse, Goat, Monkey, Rooster, Dog and Pig followed and found their places on the calendar.
When the Cat found out what the Rat had done, he was very angry. The two became enemies. Because of the Rat, the Cat is not one of the twelve animals of the Zodiac. It is why cats have chased rats ever since!
1. How many years in the Chinese Zodiac pattern?
2. According to this story, who ruled the heavens?
3. What animal was the first year of the zodiac named after?
4. Who was the last animal to be named on the zodiac?
5. According to this story, why are the cat and the rat enemies?
6. How did the rat win the race?
7. Which of the following words would you use to describe the rat? (You can only pick one)
Hungry		Clever		or	Sneaky
Give two reasons from the story to support your answer. 
Math: 
1. Area = Length x Width = ____ cm2
10cm	Area 	= L x W
	4cm			= 10cm x 4 cm
				= 40cm2
Find the area of these shapes. (Area  = L x W)		9cm		          13cm

                 11cm		25cm	13cm

	17cm

2. Volume = length x width x height = _____ cm3
			15cm	Volume 	= L x W x H
			    6cm				= 15 x 6 x 4
								= 360 cm3
4cm
Find the volume of the following shapes. (Volume = L x W x H)


	8cm						
				5cm
					18cm
	27cm


      10cm

			8cm

	14cm


	30cm



	11cm

3. In a class, students were asked if they preferred sport or music. Their answers are represented in the Venn diagram below. Answer the questions that follow. 

	

       sport	music


	10	3	6



5



a) How many students like sport only? _____________________
b) How many students like sport? _______________________
c) How many students don’t like either? _________________
d) How many students like both? ___________________________
e) How many students like music only? ___________________________
f) How many students in the class? __________________________

History:
Family life in Rome
 
Life for women in Roman times was often hard. A mother was less important than the father in the family. Father had the power of life or death over everyone. When a new baby was born it would be laid at its father's feet. Women were expected to run the home, cook meals, and raise children. If they were wealthy, women were lucky; they had slaves to do the work.
Many girls were married at the age of 14. Marriages were often arranged between families. A man could divorce his wife if she did not give birth to a son. Many women died young (in their 30s), because childbirth could be dangerous, and diseases were common.
Most children in Roman times did not go to school. Only quite rich families could afford to pay a teacher. Most schools were in towns. Not many girls went to school, but some were taught at home by tutors, who were often educated slaves. 
Boys from rich families learned history, maths, and literature at school, to prepare them for jobs in the army or government. In poor families, girls and boys had to work, helping their parents.
Roman children had some toys very like ones we play with today - such as toy soldiers, rattles, balls, doll's houses, carts and pull-along animals on wheels. Even poor children had board games, using pebbles for counters, and wooden dolls. 
Some dolls had moveable arms and legs. Roman children had ivory letters to practise their spellings with. Favourite Roman pets were dogs, birds and monkeys.
1. Who was the most important person in a Roman family?   
2. Give two reasons why a woman in Roman times might die at an early age.  
3. How did richer boys prepare for working as an adult? 
4. Do you think Romans preferred girls or boys? 
5. What did poor children have to do instead of learning with a teacher? 
6. How did Roman children practise spelling? 
7. Which type of Roman pet would be considered very unusual today? 
8. How old, in general,  were girls when they were married? 
9. Name four Roman toys. 
         
Thursday April 2nd: 
Math:
Bar chart
1. A teacher recorded the number of different cars that passes by the school one day. 
	Make of Car
	Ford
	Opel
	Kia
	Skoda

	No. of Cars
	5
	6
	9
	4



A: Draw a bar chart to show this information in your copy
B: How many cars passed the school? ______________________________________
C: What is the mean/average number of cars per make playing per sport (add up all the numbers & divide by the number of makes of car)?
_____________________________________________________________________
D: What car is the mode (most popular)? ___________________________________

Stem & Leaf Graph: (Remember in the number 20 – 2 is the stem & 0 is the leaf. In the numbers 1-9 the stem is 0 and the leaf is the number: 6 = stem 0 leaf 6) (There is only ever one stem but there can be multiple leafs. Always start with the smallest and work your way up)
Example: Put the following numbers in a stem and leaf graph.
5, 11, 21, 7, 34, 45, 17, 32, 26, 24, 21 		
	Stem	Leaf
0 5, 7
1 1, 7
2 1, 1, 4
3 2, 4
4 5

2. The ages of all the people living in an apartment block are as follows. 
4, 17, 15, 35, 41, 46, 31, 17, 10
a) Draw a stem and leaf plot of represent this data. The first two numbers are done for you. 
	b) STEM
	LEAF

	0
1



	4
5










c) What is the range of the stem and leaf plot (largest value – smallest value)? 
________________________________________________________________
d) What is the mode (most popular number)? 
_________________________________________________________________
e) What is the mean (average) value (Add all the numbers and divide by the amount of numbers)?
__________________________________________________________________
3. Amy recorded the number of fish that her class caught on a field trip in the stem and leaf plot below.  Remember a stem of 1 and a leaf of 1 = 11
	STEM	LEAF

	1	1, 2, 3
	2	0, 2, 3,
3         4, 4, 4
a) What was the biggest number of fish that were caught?_______________________
b) What was the fewest number of fish caught? ________________________
c) What is the mode (most popular number)? _____________________________
d) What is the range of fish caught (highest number – lowest number)? __________________________________________________________________
4. John went to the cinema with his kids. He bought one adult ticket and three kid’s tickets. He bought four medium popcorns and four medium drinks. 
(i) Find the total cost of	
One Adult Tickets: 		€7·00 ×1 =
    	Three Kids Tickets: 		€6·50 ×3 =
	Four Medium Popcorn: 		€4.99×4 =

	Four Medium Drinks:		€3.99 x 4 =______________ 
  					 Total 	   =
I pay with three €20 notes. How much change do I get? 



5. In a class, students were asked if they preferred books or TV. Their answers are represented in the Venn diagram below. Answer the questions that follow. 

	

        Books	TV


	9	3	8



9



g) How many students read books only? _____________________
h) How many students watch TV only? _______________________
i) How many students don’t like books or TV? _________________
j) How many students like both? ___________________________
k) How many students watch TV? ___________________________
l) How many students in the class? __________________________

English:  Read the following comprehension and answer the questions that follow.
Did Columbus Know the Earth Was Round?
Many stories about Christopher Columbus say that he set out on his voyage to prove that the earth was round. There are tales of Columbus having a difficult time finding sailors to go with him because they were afraid that the ship would fall off the edge of the ocean.
Did Columbus know the earth was round? Definitely yes! In fact, the Greeks thought that the earth was round as early as the 6th century B.C. By the time Columbus sailed in 1492, almost no one believed that the earth was flat.
The big question for Columbus was not the shape of the earth but the size of it. Columbus thought the ocean would be small enough for him to sail to India by going west. Reaching India by sailing east was difficult because Africa blocked the way.
Columbus guessed that the earth's circumference (the distance around the earth) was about 12,000 miles. He was sure that he could sail across the ocean and reach India long before his supplies ran out.
As it turns out, Columbus was wrong. The earth has a circumference of almost 25,000 miles, more than double what Columbus thought.
When Columbus landed in America, he thought he had reached India. He wasn't even half way there. Had Columbus not arrived in America, he and his crew would have starved long before they reached Asia.
1. Why did Columbus set out on his voyage?
2. Why were sailors afraid to join his voyage?
3. How long did Columbus think the Earths circumference was?
4. Why was it difficult to reach India sailing east?
5. What was the actual circumference of the Earth?
6. What country did Columbus actually find?



History Test: Try and answer these without your notes. Good luck.  

1. What were rich romans called? 
A: Plebeians		B: Patricians		C: Senate
2. What was a walled garden called in a Patrician domus?
A: Peristylium		B: Gardinium		C: Orchard
3. Who lived in an insulae?
A: Plebeians		B: Patricians		C: Senate
4. What were insulae mainly built from?
A: Stone		B: Wood		C: Bricks
5. What was an atrium?
A: Roof			B: Pool			C: Courtyard
6. What was collected in an impluvium?
A: Roses		B: Stones		C: Rainwater
7. Who owned most insulae?
A: Plebeians		B: Patricians		C: Senate
8. What was the corridor leading from the front entrance to the atrium called?
A: Vestibulum		B: Domus		C: Impluvium
9. What was a rich persons house called?
A: Insulae		B: Mansion		C: Domus
10. A domus had heating. 
True				False


Revise the Ancient Rome Kahoot today:
Ancient Rome: 0335344







